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AE = BD = 8cm
DA =EC =2cm

- (AABC2] gol)
= (AtttE]ZoDBCES] Hol)
-2 x (AABD9] HoJ)
= {%x(2+8)><10} -2X (%x8x2)
=50-16
= 34(cm?)




34. o 2"lA PAO = PBO = 90° |12
PA =PBY W, th& F H7IoAH &2 2L

W =etet
0
7
@ AO =BO © ¢APO = /BPO
© (AOB = /APB ® AAOP = ABOP
©® (AOP = /BOP ® OA=0P

i

02 od
M o

v v v vVvvyvy vy
0
i

0x
o

@ ® © O

AAOP = ABOP (RHS &%) °]tt.
© <AOB # /APB
® OA # OP




35.

thS oA M O 7F AABC 9] AL o}, zx & A7|=9

A

100°

@ 10° @ 20° ® 30° @40° ® 50°

~&B

OB = OC °|2& AOBC & o]5H Azt o|t}.
metA £ @zt 37t goeng

/OBC = /OCB

5 2x+ 100 = 180, x = 40 ©]t}.

ol




36.

le) =
chee rAkzkge

Fote 2ol

T b

2 0 o4 AC of hel 5419 %2 D et 54,
0 & AB 9 $4ol 514 9lo] 9108 OA = OB @
E, % 0+ BC 9 $8o| 554 ¢ 9ong OB = 0C

@, O°lA OA =[]

AAOD 2} ACOD ©f|A ZADO = /CDO = 90°

OA=[_|

oD = 3%

- AAOD = ACOD (RHS &%)

w2bA], AD = CD ©]E2 OD += AC &] 20|52 o] Ht},
Z, AABC 9] A H19] =7]o] 5242 3t 1 O oA whd

(Doc @op ®O0A @AD G D




37. ths I2™elA A 0 &= aABC 9] 9ot o F

D

B I C
O ABEO = ACEO ® AF =CF
® OA=0B=0C

@ /DAO = /DBO
@AFOA = /DOA

(FOA = /FOC

>
ies
Tlo
Y

Tlo




38. o= IdoA AABC 9] Al

H o] 2]o] SR o] gF oA dhit=
Hol M 0 4w, zx & 27]& F5tedzt,
A
x O
B 32 ™\
> = °
> &= 116°
OB = OC °]EZ AOBC & o5 Azt o|t}

b o SHAZtg e B2t
180° — 2 x 32° = 116° o]t}
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63. AABC 94 AB = AC °]1, /C 9] &]Z}9] o] 5 E A} /B 2] o] 5E
Aol wAL Dt gl A =70° D o, /D 9] 27]=9

A
A D

B~ x E

@® 32.5° @ 35° ® 37.5° @ 40° ® 425°

AABC 7} o] S A Z ol g
1

(ABC = /ACB = =(180° — 70°) = 55°

2
(ACD = l(AA + £ABC)
= 5(7O° + 55°)
= 62.5°
1 1
/DBC = é(zABC) =5% 55° = 27.5°

o /D = 180° — (27.5° 4 55° + 62.5°)
= 180° — 145°
= 35°




64.

1389 AABCE /A =90°°]1, AB = AC A
ol | Zto] S WA Ztgoltt, AC = EC, D
BCL1DE©°]Z AD = 6cm @ ], ADBE &

ol=? B }

@ 10cm? @ 14cm? 3)18 cm?

@ 22cm? ® 26 cm?

€5 ~
AABCE 2| Zto]5HAZ o] B2 /ABC = 45°0|t},
w2}A ABED & A Zfo]5 o|tt.
AADC = AEDC (RHS 35), AD = DEo|t}. w2tA ED =
EBolt}.
222 ABEDE Y
o|ct.

welA], Yol % X 6x 6 =18 (cm?) o]t}

i
D
(@)
B
I
&
D
(e
=
E o
X,
N
N
£
ol
i
2
N
N
i)




(AOB 9]

S
L.

AP oA ZF e =4
PR o|2tH, OP

nol g

1. PQ

S

183} o] LAOB 2 U

[e)
=)
0] 1 < Q, RolE

65. Tt

AROP & HolA =t}

ol A AQOP

o] &t

7}

1

@ 5 Wt 1 Aol 719

@ Al ®o] do|7} gt




66.

JAH2te ABCD |4 BE = CF ©]IL AE 9} A D
BF o] & G 2t 2w, .GBE + /BEG ¢
2717
F
@ 70° @ 80° @90° G
B Lo
@ 100° ® 110° E

B

AABE = ABCF (SAS %)

(GBE = /FBC = tEAB , /GEB = /AEB = /BFC, /EAB +
/BFC = 90°

. 90°




67. ot 2™ C = 90° °]aL, AC = ]l 2ol Az

ABC oA /A 2] o]5 82X 0o] BC o vttt M2 D & 5lal, AB =
AF=7
E 2 % 2 E 2
@ 5 cm @ 5 cm ©) 5 cm
@ 33cm? ® 51lcm?

A D oA AB ol W A47k0] W& H 2 o}, AAHD =
AACD(RHATHE)

I'g)
D 5cm”
ABHD & A7}o]Suaztgo]| 0 2 DC = DH = BH = 5(cm)
1
w2kA AABD = 17x5x% 5= 82—5(cm2) o], AADC = 5x12x
1
5= 30(cm?) o]t}
85 25

AABD 9} aADC 9] ol 2 - - 30 = < (em?) O]tk




68.

o2 2T 2ol /B = 90° 1 A4 ABC oA <A 9] o] 5
Ao] BC ¢ vht= A2 D 2 614 BD = 6cm, AC = 20cm & o,
AADC 9] Yoli= 2 em? Q17| Fatolat. (H, el Agkett)

@® 56 @ 57 ® 58 @ 59 (@)60

olt
ok
2

oh 27} o] M D o4 AC of e 49 e H =

“6enr D
AABD = aAHD (RHAES)

e} 4] DH = BD = Gem |25 AADC — %x20x6 — 60(cm?)




69. th2 133 o] A7z ABC 9] 212491 F21- A oA HIWH BC
o] & =410l ¥h-& D 2t 51, BC 9] 542 M ]2t 5k} £C = 55°
A o, /ZAMB - /DAM 9] 37|79

A

55\
C

O 70° @ 75° @ 80° @ 85° @90°

2241719 o] 819 BC ©] 57 M 2 AABC 9] eJ4lolt}.

ol

/ABM = 35°, /DAC = 35°°]1 AABM 2 o|SHAZF (-
BM = AM)

. ZABM = /BAM = 35°

/AMB = 180° - 35° - 35° = 110°

/DAM = /A — /BAM — /DAC = 90° — 35° — 35° = 20°
wtakA /AMB - /DAM = 110° - 20° = 90°




70. o2 1A A O &= AABD 9} ABDC 9] ¢]4o]ltt. 10OBD = 10°
A o, zx O] 27]E FoteiEt.

[ 2
> =eh 100°

A 0 = aBDC 9] 2J4o]22 OB = OD
AODB = o]|5HAMZIgo| B2 /OBD = 10°
. /DOB = 180° - 20° = 160°

7 0 = AABD 9] 9Alo|2&2 OB = OA = OD ©|1 Z/ABD =

a, /ADB = b 2} 5}

AABO £ o|5HArZ
%_ —

A
=1

A
=

Fo|H® /OAB=a+10°
1715

il

il olB& JOAD =b+10°
wrebA AFZES OBAD 9] 9H2 360° o] 22

/OBA + /BAD + +ADO + /DOB

= (a+10°) + (a4 10°+b+10°) 4 (b +10°) +160°

= 2a+2b+200°
= 360°
“a+b=280°

“/A=a+b+20°=80°+20°=100°




71. o2 1A H 0= AABC Y ¢J4o]al, /AOB : /BOC : £COA =
3:4:54 ), /x99 7|7

A
z

@® 10° @150 ® 20° @ 25° ® 30°

/AOB: /BOC: /COA =3:4:50]|22
LCOA = 360° x i =150°

12
/OAC = /OCA°|BEE

1
[x=30°% = = 15°
* 2




72. & I H 1= aAABC 2 WAoltt. /C =50°Y o, /ADB ¢}
(AEB 9] 27]9] & stoet,

A

B& 507

i
Q

iy
o

[ 2
> =g 165°

A Ie HHelBEr

/BAD = /CAD = /x, /ABE = /CBE = zy 2} 5}H
AABC A 2/x + 22y 4+ 50° = 180°,

SoLx+ Ly =65°

(ADB = /C + £/CAD =50° + /x

(AEB = /C + £/CBE =50° + 2y

. L/ADB + /AEB = 100° + /x + £y = 165°




73. tE AN AF A FH O G H 1= 4 o|5H
o] 914, WAolth, /BAC =74°, AD = CD € o, «x & 7| &
57
A
74
D
I
0
B I3 C

@® 62° @ 62.5° ® 63° (@)63.5O ® 64°

B

LACB = /ABC = %(180" —74°) = 53°

(ACI = %AACB = % X 53° = 26.5°

o2tA ACDE oA zx = 90° — ZACI = 90° — 26.5°
olc}.

= 63.5°




74. oS I3 &2 A ABCD o4 BD = 20cm ©]t}. /BOM =
/COM, MN_LOBY o, MN ¢] Zo]|& L&t}

/,,160m~\\D

8

— 1
BO = BD=§X20210(cm)

1
2

1 1 _
AOBM:§><8><6:§><10><MN

. MN =438 (cm)




75. th& 1139 nACED 7} AD // CE ¢l SHiAttHe] o]
(ABC = 30°¥ o, zx o] A7]& A L.

A D

> ™EFD 30°

1, AB//DC,

AADE 9} ADAC oA

DE = AC, /ADE = /DAC, AD= 3%
- AADE = ADAC (SAS &%)

.. LADC = /DAE = /x
AD//CE°|E&

Lx = /ADC = /DCE (%12})
AB//DColER

/x = (DCE = /ABC (592}

" /[x=30°




76.

A D

iy
o

>
> =l 60°

B ~

(ADB = /DBC = %ZC

1
§AC+ /C=90°°|22 ,C=60°




77. TFS 2 OIAABC oA A 1 AABC 9 WAoo}, /C = 70° & o,
Lx + Ly O] 2715 F-otoe)

A

D 175° @ 185° @195° @ 205° ® 215°

/AB = /IAC = za, /IBA = /IBC = /b 2t 5}
AABC A 2za 4 22b + 70° = 180°

S la+ Lb = 55°

ABCE |4 zx = /b + 70° , AADC ©f|A]

Ly = La+ T0°

SoLx+ Ly = (Lb+T70°) + (La + 70°)

= /a + /b + 140° = 55° + 140° = 195°




78. S A Ml = AABC 9] Aol /AEB = 83°, /ADB = 82°
d o, /C 9 27]|E o=t

(A = 2/a,/B = 2/b 2 5}'H AABE ©of| A

2/a + /b +83° =180°---Q

AABD Of| A, za+2/b+82° =180°---©

9,0 & At EH za =32° b =33°

o2tA AABC oA, /A + /B + £C = 64° + 66° + £C = 180°
.. £C = 50°




79.

BHPAPHSE ABCD oA = A P, Q = 242+
H BC, CD 9] S0t} mABCD 9] Hol7}t
32cm? & W, AAPQ 9] Y o]E Fotoet

A

> g cm?

> ®EH 12cm?

B
AABP = }lDABCD = le x 32 = 8 (cm?)
AAQD = Z—llleBCD = 411 x 32 =8 (cm?)
APCQ = %DABCD = é X 32 =4 (cm?)

AAPQ =32-(8+8+4) =12 (cm?)




